2011 B~ AH — AT )L UGSLIBFHMHERS

5 1 Hk
& AT AT

B¥85 PNEIL T
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4= Hi s 1213m
ks & d=bry N [3%0] 2 289m
RET A — 3 No. SAJ-23-GS-50/91
14AH 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - %Aﬁ [Z5] ISR - A - %ﬂﬁ [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A — 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 A N = 1L L I 5 H%E fil A b
1 18 09001524 iA#H =t XN F=hVAF2—A)=)57" 1:45.86 1:40.80 3:26.66
2 19 09001504 JInjE Fk gags F=hVAF 22157 2:02.55 1:53.06 3:55.61
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

B¥80 PNEIL T
N FR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4= Hi s 1213m
ks & d=bry N [3%0] 2 289m
RET A — 3 No. SAJ-23-GS-50/91
14AH 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - %m [Z5] ISR - A - %m [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 HEFH %K 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = N 157 N | = 155 D N GV N
DID NOT START [1st RUN]
20 09001222  HAf AR £y HHEFTISC
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2011 B~ AH — AT )L UGSLIBFHMHERS

5 1 Hk
& AT AT

BF75 PNEIL IS
NN AE SR
Sy FI=HNT—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T4 =y v o LS 1213m
M EE R N [3%0] 2 289m
AREB A — 3 No. SAJ-23-GS-50/91
1AH 2 A H
a—2Ak vy H— [ (5 50] a—2k vy H— A EH L2=N
ISR - A - %Aﬁ (3 50] ISR - A - ﬂaﬂﬁ (3 50]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= (3 50] ISR - C - &= (3 50]
ISR - D - =T 4 (3 50] ISR - D - ~—T 4 (3 50]
ISR - F - FEAR (57 B ] ISR - F - FEAR (57 5]
iR - F - HHE (3 50] iR - F - HHE (3 50]
TR 40(39) A A — IR 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PR <HD =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E Rl RA b
1 21 09001289 ‘'mE /A g KETTISC 1:25.50 1:24.07 2:49.57
2 2209001287 HiE JF] i KETTISC 1:25.88 1:25.24 2:51.12
3 24 09001773  HMI EAT T J J=A-94 %" SC 1:41.04 1:36.08 3:17.12
DID NOT START [1st RUN] 3
23 09001610 A% EH = L1F1asc
25 09001577 {FiE X R0 — B T AF-E
26 09001226 H B PE— g KETTISC
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 1
27 09003157 JIBE FI =HF A RHERAR=TF=0T77" GATE No. 12 , @i Ri@it
DID NOT START [2nd RUN] 0
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

BFT75
F=870
NEAT Ag—b =N B 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = 157 N | = 155 D N GV N
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



2011 B~ AH — AT )L UGSLIBFHMHERS

5 1 Hk
& AT AT

BF70 PNEIL IS
NN AE SR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] Y 1502m
T4 =y v a R 1213m
ks & d=bry INE fR (3 50] o 289m
AREB A — 3 No. SAJ-23-GS-50/91
1AH 2 A H
a—2Ak vy H— [ (5 50] a—2k vy H— A EH L2=N
ISR - A - %ﬂﬁ (3 50] ISR - A - %ﬂﬁ (3 50]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= (3 50] ISR - C - &= (3 50]
ISR - D - =T 4 (3 50] ISR - D - A dVg (3 50]
ISR - F - FEAR (57 B ] ISR - F - FEAR (57 5]
iR - F - HHE (3 50] iR - F - HHE (3 50]
TR 40 (39) 22— R 8:55 HEFH %K 40 (38) 2 — IR 12:20
R A Ei ey Hard KA <Hb =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
IERE 25—} =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héﬁ B RA b
1 28 09001301 WE FI1EA g A EJERSC 1:20.79 1:17.61 2:38.40
2 31 09001656 [LIfE %58 M7 . TyTzbd 1:21.27 1:19.31 2:40.58
349 09003127 )1 FE 5N LiFrasc 1:24.84 1:20.17 2:45.01
4 36 09001647 JhAT SEH M7 . ¥-7° 1/SC 1:27.29 1:22.43 2:49.72
5 34 09001601 #F)JI| FnA gl Y27 A%-RC 1:28.43 1:21.66 2:50.09
6 32 09001434 HhJE & =1 ‘= 1LFSC 1:26.61 1:24.76 2:51.37
7 3509001624 ARA FEME 5N ZEY T A8 B 1:28.49 1:25.48 2:53.97
8 37 09001646 B iF 7 R Bt 1:30.18 1:24.37 2:54.55
9 42 09001642 R IEfH 57 B R lIPES RS 1:32.31 1:25.07 2:57.38
10 38 09001474 75/ = 5N DENSO7E A 2~ SKIf 1:33.49 1:24.33 2:57.82
11 45 09001548 HA 5 R0 TV )=SC 1:33.13 1:25.49 2:58.62
12 41 09001596 i B = 7T 7" V¥VTST 1:33.39 1:28.11 3:01.50
13 44 09001603 (LM IEE N B/ R ST AT AR 1:33.84 1:28.57 3:02.41
14 43 09001844 T-#E —4T % FIRH B AT 1:35.03 1:27.79 3:02.82
15 40 09001611 EiE W N JNBCR 2B B 1:33.79 1:30.33 3:04.12
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



2011 B~ AH — AT )L UGSLIBFHMHERS

5 1 Hk
& AT AT

BF70
F=870
NEAT Ag—b =N B - 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = 157 N | = 155 D N GV N
16 39 09001537 YEjE e = F=hVAFa—2/)-157" 1:36.36 1:31.73 3:08.09
17 46 09001578 VL& fHciE 5N — B T AR 8 B 1:37.37 1:34.14 3:11.51
18 48 09001774 16 JTHE i=455 HRFV =) F-) 1:40.40 1:35.52 3:15.92
19 47 09001483  PH (L R B/ R ST AT AR 1:41.56 1:35.92 3:17.48
DID NOT START [1st RUN] 2
30 09001285 EHEE LA E# KHTHISC
33 09001310 At B4F £y H P SC
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 1
29 09001775 7248 o i=455 FTF =Yy ) Fl GATE No. 13, MW@ EiE
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



2011 B~ AH — AT )L UGSLIBFHMHERS

o 1

& AT AT

B+65 PNEIL IS
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] Y 1502m
T4 =y v a R 1213m
ks & d=bry N (3 50] o 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a—2Ak vy H— [ (5 50] a—2k vy H— A EH L2=N
ISR - A - %Aﬁ (3 50] ISR - A - ﬂaﬂﬁ (3 50]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= (3 50] ISR - C - &= (3 50]
ISR - D - =T 4 (3 50] ISR - D - A dVg [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE (3 50] iR - F - HHE (3 50]
TR 40 (39) 22— R 8:55 HEFH %K 40 (38) 2 — IR 12:20
R A Ei ey Hard KA <Hb =8 Hard
A=K7 4=y v a iR -3.6°C / -2.1C AB—F/T7 4=y 2R -0.4°C / 1.2°C
F=870
IERE 25—} =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Hé? B RA b
1 52 09001609 =% {#{T = LiFasc 1:18.29 1:13.24 2:31.53
2 50 09001550 f{&ERE J&1F RN HH A¥- 1:18.53 1:13.81 2:32.34
3 5509001771 i TaiG 5N n/4ASC 1:18.64 1:14.01 2:32.65
4 51 09001460 & FEk ) BT 1:18.75 1:15.11 2:33.86
5 54 09001606 faFH Z_— XA BRIV =T A%-RC 1:21.62 1:16.80 2:38.42
6 65 EE BT 5N VRN 1:21.64 1:16.94 2:38.58
7 60 09002465 g =EiZ gl DX AUIESC 1:21.38 1:17.71 2:39.09
8 53 09001290 THN EE £y KETTISC 1:23.74 1:19.07 2:42.81
9 57 09001612 ‘HJR &=(Z N JNBCR A B B 1:27.41 1:22.90 2:50.31
10 58 09001652 I,k &= 57 B Iz B.7 A" /SC 1:28.71 1:24.28 2:52.99
11 63 09001482 'y B — 5N - B AF 50 1:30.21 1:23.08 2:53.29
12 59 09002805 Ak fik N A AR AR EE 1:35.12 1:28.61 3:03.73
13 61 09002517 HE 35 5N FHHSC 1:35.91 1:30.60 3:06.51
14 62 09002455 [UMA %5 R A7 FYRF=T 73— 1:48.98 1:36.10 3:25.08
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

B¥65
F=870
JEAT AS=h EEIN K &< 1AH 2AKH & F L—X
No No K4 B4 BT B 4 Re R OB R OBE R KA b
DID NOT START [1st RUN] 1
56 09001607 & B ZEH Y27 A%-RC
DID NOT FINISH  [Ist RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HifrE B EE (&)
05-02-2011 / 1FBD X FAF—5; G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

B+60 PNEIL IS
NN AE SR
Tal— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T4 =y v a R 1213m
ks & d=bry N (3 50] o 289m
AREB A — 3 No. SAJ-23-GS-50/91
1AH 2 A H
a—2Ak vy H— [ (5 50] a—2k vy H— A EH L2=N
ISR - A - éféﬂﬁ (3 50] ISR - A - ﬂaﬂﬁ (3 50]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= (3 50] ISR - C - &= (3 50]
ISR - D - =T 4 (3 50] ISR - D - A dVg [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE (3 50] iR - F - HHE (3 50]
TR 40 (39) A & — KRR 8:55 HEFH %K 40 (38) 2 — IR 12:20
R A = ey Hard KA <HD =8 Hard
A=K7 4=y v a iR -3.6°C / -2.1C AB—F/T7 4=y 2R -0.4°C / 1.2°C
F=870
IERE 25—} =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E B RA b
1 6809001604 FFH % N D AIESC 1:17.30 1:12.31 2:29.61
2 69 09001842 fEIG & T FIRH B AT 1:17.40 1:13.66 2:31.06
3 70 09002444 UK ez i KETHI S C 1:18.35 1:13.31 2:31.66
4 7509001650 g & 7 B HHSC 1:17.84 1:13.88 2:31.72
5 66 09001288  VH(L HhHEB £ KHTHISC 1:19.39 1:13.84 2:33.23
6 67 09001720 =45 Hr— g = EERLVERTSC 1:20.34 1:13.81 2:34.15
7 82 09001618 /N B N TAY/KERESC 1:21.04 1:15.34 2:36.38
8 72 09002385 AR FEAK =i fE¢esc 1:19.80 1:16.94 2:36.74
9 77 09001633 #1L FEEH = PN 7N 1:21.58 1:16.25 2:37.83
10 79 09001491 #RiE A i = T B AR5 1:19.92 1:18.13 2:38.05
11 71 09001582 4k #1{H = JAT VFSC 1:21.41 1:17.04 2:38.45
12 80 09001515 Kk FEAT = N4 A BhEL (BR) A% 1:23.32 1:17.78 2:41.10
13 73 09001654 fEKMH & 7 F2. 57 E.DSSC 1:25.93 1:19.19 2:45.12
14 81 09002417 TPHH #EH g = EERLVERTSC 1:28.38 1:19.90 2:48.28
15 83 09002649 REFREL KBS = TAYY +2=T4 (BR) A% 1:26.23 1:22.36 2:48.59
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2011 B~ AH — AT )L UGSLIBFHMHERS

o 1

& AT AT

E+60

JIENL 2p-h 1=}
No No

16 74 09001813
17 85 09003158
18 84 09002792

DID NOT START
86

DID NOT FINISH
76 09001620

DISQUALIFIED
DID NOT START
DID NOT FINISH

DISQUALIFIED

X -
K4 B 4 B B 4
A FE fif] | L1 AR V=) 1577
AR TR AT =177
(g (= IE=RE =R [t 5 T A% =T 2
[1st RUN] 1
AR EiE N Ligh
[1st RUN]
£ e gl B HNY=7 A%-RC
[1st RUN] 0
[2nd RUN] 0
[2nd RUN] 0
[2nd RUN] 0

Ak mh EE

05-02-2011 / 1B DX F A X —F

& 1]

1AH
iy fH

1:27.04
1:31.25
1:33.34

F=870
2KH & B L—=A
BE R B R AA b

1:22.38 2:49.42
1:23.54 2:54.79
1:26.70 3:00.04

G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

B+55 PNEIL IS
NN AE SR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T4 =y v a R 1213m
ks & d=bry INE fR (3 50] o 289m
AREB A — 3 No. SAJ-23-GS-50/91
1AH 2 A H
a—2Ak vy H— [ (5 50] a—2k vy H— A EH L2=N
ISR - A - %ﬂﬁ (3 50] ISR - A - %ﬂﬁ (3 50]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= (3 50] ISR - C - &= (3 50]
ISR - D - =T 4 (3 50] ISR - D - A dVg (3 50]
ISR - F - FEA (57 5] ISR - F - FEAR L2=N
iR - F - HHE (3 50] iR - F - HHE (3 50]
TR 40 (39) 22— R 8:55 HEFH %K 40 (38) 2 — IR 12:20
KA H i e Hard KA <HD e Hard
A=K7 4=y v a iR -3.6°C / -2.1C AB—F/T7 4=y 2R -0.4°C / 1.2°C
F=870
IERE 25—} =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E B RA b
1 87 09001643 =k = 57 B TN AR=157" 1:15.13 1:11.34 2:26.47
2 102 09001616 FRJF FE= 5N DX AUIESC 1:15.26 1:11.81 2:27.07
3 92 09001581 ¥ 4ERE R0 B AF=F=4 1:16.48 1:13.02 2:29.50
4 89 09001503 7I#& FHF =4 ELERr VeSS 1:16.66 1:12.93 2:29.59
5 100 09003048 &3 R 7 B BB R A - 1:18.14 1:12.72 2:30.86
6 98 09001700 Efk == TR AT -7 1:17.42 1:13.69 2:31.11
7 90 09001651 —=f& IE3E 7 B ¥-7"7/SC 1:18.31 1:12.87 2:31.18
8 88 09001185 THIN IFEA £y KETTISC 1:18.23 1:14.06 2:32.29
9 103 09002806 #EMH wH gl n/4ASC 1:18.17 1:14.58 2:32.75
10 107 B fnE N AT 1:18.26 1:15.33 2:33.59
11 91 09001599 E&)I B 5N — B AF-E 1:18.79 1:15.18 2:33.97
12 94 09001628 +H FZE gl DENSO7E A 2~ SKIf 1:20.30 1:16.23 2:36.53
13 93 09001493 REH & =50 T - B 1:2451 1:17.16 2:41.67
14 97 09001506  PHA; Wk N B HNY=7A%-RC 1:23.97 1:19.13 2:43.10
15 95 09001557 K#F —— N by B B (BK) A% 1:24.81 1:19.85 2:44.66
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

BF+55
F=870
NEAT Ag—b =N B - 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = 157 N | = 155 D N GV N
16 101 09001565 fm7k EHE R DENSO7E A 2~ SKIf 1:26.32 1:20.52 2:46.84
17 96 09001517 JEH P& =R MY B B EL (BR) 23356 1:26.16 1:21.25 2:47.41
18 105 09002861 A2A HHEC ¥ KETTISC 1:27.41 1:21.86 2:49.27
19 106 KKk 15 A 7 1:28.56 1:24.49 2:53.05
DID NOT START [1st RUN] 2
99 09002384 H)I| FE— =4 f&IESC
104 09002434 VE B F A L1F1asc
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

BF+50 PNEIL IS
NN AE SR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T4 =y v a R 1213m
ks & d=bry N (3 50] o 289m
AREB A — 3 No. SAJ-23-GS-50/91
1AH 2 A H
a—2Ak vy H— [ (5 50] a—2k vy H— A EH L2=N
ISR - A - %ﬂﬁ (3 50] ISR - A - %ﬂﬁ (3 50]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= (3 50] ISR - C - &= (3 50]
ISR - D - =T 4 (3 50] ISR - D - A dVg [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE (3 50] iR - F - HHE (3 50]
TR 40(39) 2K — R 8:55 % 40 (38) 2K — R 12:20
KA H i =8 Hard PR <HD =8 Hard
A=K7 4=y v a iR -3.6°C / -2.1C AB—F/T7 4=y 2R -0.4°C / 1.2°C
F=870
IERE 25—} =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héﬁ B RA b
1 109 09001499 HH & N TAYY « 2T 4 (BR) A% 1:11.86 1:08.28 2:20.14
2 108 09001623 AR ’ﬂlﬁﬂ gl - B AF 50 1:14.46 1:11.01 2:25.47
3 111 09001510 =} H— = F-hAtA 1:15.56 1:11.49 2:27.05
4 113 09001556 RBEL EA 5N B W B iRy 1:15.41 1:12.37 2:27.78
5 114 09001547 {FjE {Ei5 5N B b AF—F—=4 1:16.11 1:11.68 2:27.79
6 110 09001662 AH: =5tk 57 B BT 1:16.64 1:13.05 2:29.69
7 112 09000820 AL 7=z 5N AR =YW VSC 1:20.27 1:16.44 2:36.71
8 120 09001591  BEEH M gl I¥AN =SC 1:21.50 1:15.82 2:37.32
9 118 09001625 H4R FTHI 5 RV 247 b AF—F 1:21.95 1:16.78 2:38.73
10 115 09001564 HAJH #+ = AT TY 1:22.35 1:17.13 2:39.48
11 117 09001614 FgiE = A JINBCT A% BB 1:21.92 1:17.67 2:39.59
12 125 09002442 EiR Fes i KETTISC 1:24.79 1:21.96 2:46.75
13 122 09001512 B == S| T NY=7 2%-RC 1:26.46 1:20.61 2:47.07
DID NOT START [1st RUN] 2
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

BF+50
F=870
NERE Ap=b =N B 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = 157 N | = 155 D N GV N
121 09001505 HR ¥#E— = B AF=F=
123 09001626 —J& EEfd 5N BR) V" 2477 b 2%—50
DID NOT FINISH [1st RUN]
124 09003134 /NI 5 B F 7 LA
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
119 09001540 {EM ZAI =0 B MIAE—F—4
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

BF45 PNEIL IS
N FR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T4 =y v a R 1213m
ks & d=bry N (3 50] o 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a—2Ak vy H— [ (5 50] a—2k vy H— A EH L2=N
ISR - A - ﬂaﬂﬁ (3 50] ISR - A - ﬂaﬂﬁ (3 50]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= (3 50] ISR - C - &= (3 50]
ISR - D - =T 4 [Z5H] ISR - D - A dVg [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE (3 50] iR - F - HHE (3 50]
TR 40 (39) 22— R 8:55 HEFH %K 40 (38) 2 — IR 12:20
KA H i Egy Hard KA <HD Egy Hard
A=K7 4=y v a iR -3.6°C / -2.1C AB—F/T7 4=y 2R -0.4°C / 1.2°C
F=870
IERE 25—} =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héﬁ B RA b
1 128 09001541 M F=o% R JAT VFSC 1:12.39 1:07.63 2:20.02
2 127 09001635 FE = A) = MR 1:14.07 1:09.92 2:23.99
3139 09003136 4l Eh R 5 RS ET A 1:15.66 1:11.09 2:26.75
4 129 09001617 #RH = TR 7T VEYTST 1:16.40 1:11.10 2:27.50
5 132 09001501 FIP FEE =R TAVY =74 (BR) AF—58 1:18.14 1:13.11 2:31.25
6 145 RVA I e gl [NERZAEKN 1:19.22 1:12.58 2:31.80
7 135 09002457 < =JH ¥ =R DENSO7E A 2> SKI6 1:18.51 1:14.07 2:32.58
8 130 09001544 HE BEEE =R SKI TEAM SEED 1:18.76 1:14.17 2:32.93
9 148 miE B =50 UL 1:21.16 1:13.36 2:34.52
10 146 Yk B = VRN 1:20.68 1:13.99 2:34.67
11 133 09001590 FHH FH = TFAN —}SC 1:20.36 1:15.73 2:36.09
12 143 AR B gl =7 1:23.15 1:15.72 2:38.87
13 144 AR FERE = VRN 1:22.74 1:16.86 2:39.60
14 141 R 0 N B | 1:23.28 1:17.08 2:40.36
15 142 AR 5h3E A B P 1:23.80 1:17.93 2:41.73
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2011 B~ AH — AT )L UGSLIBFHMHERS

5 1 Hk
& AT AT

B+45

NEAZ 25—} =b BiEE

No No K4

16 136 09002451 TjE FHHI
17 137 09001586 MMk [ELkst

DID NOT START [1st RUN]
131 09001516 H.JI| E=Kp
138 09003137 B H 2%
140 09002486 Jb¥E &

DID NOT FINISH [1st RUN]

DISQUALIFIED [1st RUN]

DID NOT START [2nd RUN]

DID NOT FINISH [2nd RUN]

DISQUALIFIED [2nd RUN]

Ak mh EE

05-02-2011 / 1B DX F A X —F

N
5N

N
N
TR

B 4
F=hV A% a-R)=177"
HRE R 1B H01SC

& 1 RSP AT
ba B BhE (BR) 230
SUM ST NG

& 1]

1AH
iy fH

1:30.08
1:29.73

F=870
2KH & B L—=A
BE R B R AA b

1:23.27 2:53.35
1:24.59 2:54.32

G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

B+40 PNEIL IS
N FR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4=y a s 1213m
ks & d=bry N (3 50] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a—2Ak vy H— [ 7 [ZH] a—2k vy H— A EH L2=N
ISR - A - %Aﬁ [Z5] ISR - A - ﬂaﬂﬁ (3 50]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= (3 50]
ISR - D - =T 4 [Z5H] ISR - D - ~—T 4 (3 50]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE (3 50]
TP % 40(39) 2K — R 8:55 % 40 (38) 2K — R 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Hé? ] AA 2k
1 150 09001574 &4 fH=] N ZEY T A% B 1:14.90 1:10.22 2:25.12
2 157 09002467 FH)I| ¥R AN BE-IN 1:15.57 1:10.67 2:26.24
3 152 09002334 LH E— —H FKEFSC 1:16.03 1:10.82 2:26.85
4 149 09001536 HEKE b =50 JA” WFSC 1:16.18 1:11.69 2:27.87
5 155 09001539 H » i ~F =50 LiFHsc 1:17.52 1:11.31 2:28.83
6 151 09002470 JHEA T N WA -1 1:17.81 1:13.56 2:31.37
7 158 ANV A gl =y 1:18.48 1:13.13 2:31.61
8 153 09002796 /A% TEHL = TV )=SC 1:23.14 1:15.95 2:39.09
9 154 09001592 UK #H%& R0 BB IR AT 1:23.93 1:18.65 2:42.58
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 1
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

B+40
F=870
JERE A5=b -b B 1AH 2AKH & F b—2=A
No No KA B 4 BB 4 I I 5 I 3 s A GV
156 09001532 {7 H A DENSO#E ACZ2 SKTHR GATE No. 36 , AA v F Ry
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Bk AT S (& (]
05-02-2011 / IFBD X PR F—5; G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

B+35 PNEIL IS
N FR
Cay— T = HNT—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4=y a s 1213m
ks & d=bry N (3 50] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a—2Ak vy H— [ 7 (5 50] a—2k vy H— A EH L2=N
ISR - A - éféﬂﬁ [Z5] ISR - A - %Hﬁ (3 50]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= (3 50]
ISR - D - =T 4 [Z5H] ISR - D - ~—T 4 (3 50]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE (3 50]
TP % 40(39) 2K — R 8:55 % 40 (38) 2K — R 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E Rl RA b
1 162 09002459  {FjE Ttk I — B T A% —E 1:16.95 1:11.95 2:28.90
2 168 Pt IEFD N NS XN 1:17.46 1:12.60 2:30.06
3 161 09002894 kR &5 57 B R[PSS 1:18.60 1:12.94 2:31.54
4 166 o B AN JTEKT 1:19.62 1:14.46 2:34.08
5 164 09003133 g thikE = T HUHKESC 1:21.41 1:15.22 2:36.63
6 163 09002808 AL gl B b AF—F=4 1:21.31 1:15.70 2:37.01
7 165 09001579 V& & — R B R AF—F—A 1:24.75 1:19.34 2:44.09
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 1
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

BF+35
F=870
NEAT Ag—b =N B 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = 157 N | = 155 D N GV N
167 e 7 A AT
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
05-02-2011 / IZBD X YERF— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

B30 PNEIL T
N FR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4=y a s 1213m
ks & d=bry N [3%0] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - %Aﬁ [Z5] ISR - A - %ﬂﬁ [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
WIEH - D - v [:] AiEH - D - Sy (5]
ISR - F - FEA (57 5] ISR - F - FEA L2=N
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 HEFH %K 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 172 09001594 #H #Hi& A n/4ASC 1:17.67 1:12.16 2:29.83
DID NOT START [1st RUN] 1
171 09002461 #f B2 =R MY E EYE (BR) 2556
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE L& ]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2011 FHN~ A K — KT )L~ GSLIRFHER S
o 1
e LT P T AT

B¥25 PNEIL T
N FR
Tall— T =N T—H
iz He & (& 1] a— A4
A DA K BlfiE 2 — R
F5k [1ERANE! ¢ (57 B ] 2K — i 1502m
T 4= Hi s 1213m
ks & d=bry N [3%0] 2 289m
AREBHS— 3 No. SAJ-23-GS-50/91
1A4H 2 K H
a— 2y K — [ 7 [ZH] a— 2y K — A EH L2=N
ISR - A - %Aﬁ [Z5] ISR - A - %ﬂﬁ [Z5H]
ISR - B - B (57 5] ISR - B - B (57 5]
ISR - C - &= [ZH] ISR - C - &= [ZH]
ISR - D - =T 4 [Z5H] ISR - D - ~—T v [Z5]
ISR - F - FEA (57 5] ISR - F - FEA (57 5]
iR - F - HHE [Z5] iR - F - HHE [ 5]
TR 40(39) A A — IR 8:55 % 40 (38) 2 — IR 12:20
KA H i =8 Hard PN <HY =8 Hard
2B —K/T 4=y a kiR -3.6C / -2.1C 2B —K/T 4=y a kiR -0.4°C / 1.2C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 173 By RF5 N TS 1:14.04 1:08.65 2:22.69
DID NOT START [1st RUN] 1
174 ARSI =N} 5N 1B Tk
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE L& ]
05-02-2011 / IZBD X YERF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



